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& IrE 119,578,627 118,313,158 1,265,469
= 46,362,433 46,362,433 0
s 1,776,000 1,776,000 0
| 6,863,968 6,860,572 3,3%
L= 31,997,058 31,455,964 541,094
Al 32,579,168 31,858,189 720,979
FHUAHE Ol S 34,741,614 34,528,192 213,422
= 12,237,925 12,237,925 0
s 1,776,000 1,776,000 0
Il 178,777 178,777 0
== 4,864,246 4,681,219 183,027
Al 15,684,666 15,654,271 30,39
Ols=XIAE 23 17,164,824 16,951,402 213,422
= 508,482 598,482 0
s 1,776,000 1,776,000 0
| 99,983 99,983 0
== 2,492,461 2,309,434 183,027
Al 12,197,898 12,167,503 30,39
TACel SRY A 219,520 176,098 43,422
= 65,85 52,829 13,027
Al 153,664 123,269 30,39
307 212t01 & 219,520 176,098 43,422
S 65,85 52,829 13,027
Al 153,664 123,269 30,395
1 ARRI=SXAIEE X 219,520 176,098 43,422
OBACIE] S8 ALY
ZE 219,520,000& 14! 219,520 176,098 43,422
L= 65,856 52,829 13,027
Al 153,664 123,269 30,39%
KE0tsHIE MK ALY 2,461,835 2,291,835 170,000
= 623,229 453,229 170,000
Al 1,838,606 1,838,606 0
402 SI2ERHE01 M 170,000 0 170,000
S 170,000 0 170,000
02 QI TH2AIE EE(0IMTHE) 170,000 0 170,000
OXG0tsHEH AlE W2 AFY
30,000,000 * 14! 30,000 30,000
= 30,000 30,000
O8olils NA0tsHEH AEHE (522
KE0LSHE 2 11L)
90,000,000 * 14! 90,000 90,000
== 90,000 90,000
OXIZotsSHE AIEMNESAHAS XIG0tS
HIE 2 4004) 50,000,000& *14! 50,000 0 50,000
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| 1] & 50,000 0 50,000
HAH 25 84 3,081,335 2,806,335 275,000
= 154,658 154,658 0
I 916,29 916,29 0
= 434,706 246,706 188,000
Al 1,575,675 1,488,675 87,000
Hod 2SN 2,042,375 2,082,375 10,000
= 154,658 154,658 0
9] 697, 131 697, 131 0
= 201,097 201,097 0
Al 989,489 979,489 10,000
NAHAHHOD| P 2 12,800 2,800 10,000
g 1,400 1,400 0
Al 11,400 1,400 10,000
307 BIRH0I A 12,800 2,800 10,000
9] 1,400 1,400 0
Al 11,400 1,400 10,000
TEEIWETES 10,000 0 10,000
ONER HAE ol 243 Al
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HAU AL NE 579,430 314,430 265,000
g 35,280 3,280 0
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= 183,000 0 188,000
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235,000,000 14! 235,000 235,000
=S 188,000 188,000
Al 47,000 47,000
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30,000,000 14! 30,000 0 30,000
ol =X B 14,361,384 14,105, 164 256,220
= 2,177,770 2,177,770 0
g 5,562,441 5,549,045 3,3%
= 2,138,028 1,967,961 170,067
Al 4,493,145 4,410,388 82,757
old=x B2 7,017,3% 6,903,815 113,580
=2 2,177,770 2,177,770 0




2A:

E M

X=]

(GE=p =)}

e =X 38

D od=X 58

SA - B GR(31) - HIRAY - BES ol &k ol @ o HimE=T
J| 1,379,042 1,375,646 3,3%
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GEs=HY SHIXR 1,000,853 921,933 78,920
< 301,357 277,681 23,676
Al 699,49 644,252 55,244
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55,000,000& 14! 55,000 0 55,000
== 16,500 0 16,500
Al 38,500 0 38,500
402 QIZERHE0| A 16,000 0 16,000
< 4,800 0 4,800
Al 11,200 0 11,200
02 QIZEXHE2AIZ 2 X (01 & TH &) 16,000 0 16,000
OSZHYolEIgHEH JIsE2d
16,000,000 *14] 16,000 0 16,000
o= 4,800 0 4,800
Al 11,200 0 11,200
HAZRISIEAl =4 17,440 0 17,440
==} 3,000 0 3,000
Al 14,440 0 14,440
201 L2 | 5,940 0 5,940
01 ArR22elt| 5,940 0 5,940
OWY&SEAl =4 223 3o =5
70,0003 * 14 +33] 2,940 0 2,940
OWAZEAl E2= ME S
3,000,000 14 3,000 0 3,000
303 ZAa= 1,500 0 1,500
01 Z&2 1,500 0 1,500
OWHZSEAl =& 224 Z&Z3 X
1,500,000 14 1,500 0 1,500
307 212t01H 10,000 0 10,000
(o= 3,000 0 3,000
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10 AR SXAIEEHER2IHIE X 10,000 0 10,000
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10,000,002 %141 0,000 0 10,000
= 3,000 0 3,000
Al 7,000 0 7,000
CISESITAl AIDIEOIE 29 11,320 0 1,320
301 Y BHZ 1,320 0 1,320
14 JIEH2 A2 1,320 0 1,320
OOSRSITAl ADIEOIE S|
11,000215302x43] 1,320 0 1,320
308 XX EHHI SO 0,000 0 0,000
11 BII S OICHEHZ A R ARSI 0,000 0 0,000
OOSSITAl NQIHOS DS
10,000,002 %141 0,000 0 10,000
IEEATNI BEAE JIS2Y 3,670 0 3,670
b 1,83 0 1,83
= 550 0 550
Al 1,285 0 1,285
402 RIZEXHE0IH 3,670 0 3,670
P 1,83 0 1,83
= 550 0 550
Al 1,285 0 1,285
(2 QIR = AR B E (OIE T ) 3.670 0 3,670
ONWEAWMN SBAL IISBL (L)
3,670,000 %141 3,670 0 3,670
p 1,83 0 1,83
= 550 0 550
Al 1,285 0 1,285
=Z20/6H 0108 BSAL JIS2Y 2,230 0 2,230
p 1,561 0 1,561
= 201 0 201
Al 468 0 468
402 SIZERHE0I M 2,230 0 2,230
b 1,561 0 1,561
= 201 0 201
Al 468 0 468
02 BIRIXFEAIS B E (OIFTHR ) 2,230 0 2,230
OZHIoH 017014 2SAA JIs2Y
2,230,000 %141 2,230 0 2,230
b 1,561 0 1,561
= 201 0 201
Al 468 0 468
EES BEIPiE 6,515,357 6,372,717 142,640
p 4,173,3% 4,173,3%0 0
= 1,002,641 860,001 142,640
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Al 1,339,317 1,339,317 0
SHRLIEE NHYS WSHl THIXE 1,285,380 1,142,740 142,640
< 485,462 32,822 142,640
Al 799,918 799,918 0
301 LEtENS 1,285,380 1,142,740 142,640
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Al 799,918 799,918 0
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O21d RESOs 188 2EAE =18
E= 1,318,660& 1,319 0 1,319
O2iE RESOs O§s 23N 210
£= O0IK ghe 6,400 7 0 7
o221 B MEs SIXNIAME =8 &
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02 Al - SHIEXZEHEZ 447,422 447,422
O2021d HAEHAIL JISBELAIY T RN
g 7,946,720 7,947 0 7,947
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02021 OFEZAl ZA WS NERES &
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